ITEM NO: M7038

Convert carabiner system to swivel

HEX NUT(M5)

%‘ LOCK WASHER(M4)
ul FLAT WASHER(M3)
| CANOPY(M)
E— CANOPY(M2)
|

THREADED SWIVEL(M1)

CENTER ROD(J)

CANOPY(M) T

CENTER ROD(J)

ASSEMBLY INSTRUCTIONS

Remove the loop, flat washer, lock washer, and hex nut from the canopy (M) and center rod (J).
Thread wire from center rod (J) through threaded swivel (M1) and canopy (M2).

Install the threaded swivel (M1) into the top of center rod (J).

Place the threaded swivel (M1) into the canopy (M2).

Place the flat washer (M3) and lock washer (M4) onto the top of the threaded swivel (M1) and
secure with hex nut (M5).

kW=



	ASSEMBLY  INSTRUCTIONS
	ITEM NO.: M70116BB




